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#include <iostream>
#finclude <algorithm>
using namespace std;
const int N = 2ed + 10;
int a[N]:

int main() {

it n, o

Cin 2F N o

for (it 3= 15 3 & 6 55 4
ein »> alil;
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ISfnhe

/! HEFREIE
sortia + 1 a nd 1)
long long ans = 0;
for: {int 1 =1 1 <o 14 §
int b =alil:
int target = b + ¢; // HEFERAE
// Hlower bound¥gE—->=tarzetAIi B
/) BEHERERA AR EENE (M1
int 1 = lower bound(a + 1, a + n + 1, target) — a:
// Hupper boundf#E—>targetBI i E
int r = upper_bound(a + 1, a + n + 1, target) — a;
) BT ERNEERETSHTNANSE
ans += {r— 1}
I

cout << ans << endl;
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